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1 eV = 11600 K = 1.60× 10−19 J = 5.07× 106 m−1 = 1.52× 1015 s−1 = 1.78× 10−36 kg

c = 1 = 2.998× 108 m/s
h̄ = 1 = 197 MeVfm
1 pc = 3.09× 1016 m = 3.26 a
1 a = 3.156× 107 s
h ≡ H0/(100 km/s/Mpc)
(100 km/s/Mpc)−1 = 9.78× 109 a = 2998 Mpc
T0 = 2.7255 K = 2.349× 10−4 eV
Tν0 = (4/11)1/3T0
zdec = 1090
me = 0.511 MeV
mN = 938 MeV
mp +me −mH = 13.6 eV

M� = 1.99× 1030 kg
ζ(3) = 1.20206
mPl ≡ G−1/2 = 1.22× 1022 MeV
MPl ≡ (8πG)−1/2 = 2.435× 1021 MeV
gn = gp = ge = 2, gH = 4
Q = mn −mp = 1.293 MeV
g∗(T � me) = 3.384
g∗S(T � me) = 3.938
g∗(1MeV) = g∗S(1MeV) = 10.75
τn = t1/2/ ln 2 = 878 s
n+ νe ↔ p+ e−

µe � T (kun/when T > 30 keV)
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